TEXIO

kRS

SYIIINTETA

GRA-413 SANTED N TAAN E71 0112

Ty =vr b7 Lb—5 GRA413 1, Ytk LSG-2100S % JIS M £ 21X EIA B OIENET v 712~ v b 5712007 X757 TY,

1. fERE&URE

e HE &%
@® e 418 | EIA A 2 & (H133) JIS A 2 {8 (H149)
@ JIS 7 v 7 &5 1@ * JIS A& F
® TLAARY M3 X8 4 {8 * JIS Ft&F
@ TALAAFXRY M4 X8 8 1@ EIA F 4 {E(H133) JIS A 4 {8(H149)

2. IYIRIVNTFTEIDERA~DEI A%
(1) HEOILEEERYSNT,
(2) EEOQZFHRICMIXSDROTRYDITS.EIA AEEL VS AEEDELELNEFERLET . EIASYIDIEE . QIEFEALALY,
(3) JISIRESvIDIHEE
R0 LA IS SO BEQFH EEEDIZMIXx8DRUQFFAL THATIT5,

3%
<>
&\\
@ 00
@ 14
EEFE
O EEYMTI DT, SUIICIRE T HR— 7T IILERST T TS,
/\T T\/ * BHTFYR— T ILERELTHBYEEA,
HMERDSVIEFERINTWBREE . Y R—r NPT ILITEDS VY
® ® DA—HAHERFTLTLNBEDFETFERLIESLY,
o o L TFIZEEAEUESN DB S, Y R—, 7o ILIZEY B
BUOMEENHYET D TIHERDS AT TS,

HR—rT7T L



TEXIO

INSTRUCTION MANUAL
RACK MOUNT ADAPTER

G I QA '4 1 3 TEXIO TECHNOLOGY CORPORATION

The GRA-413 is the standard rack mount adapter in conformance to the JIS or EIA Standards. It is designed to mount our products.

1. COMPONENT PARTS LIST

Parts Q'ty | Remark
(D | BRACKET 3U 4 | EIA(H133) 2pcs JIS(H149) 2pcs
©@ | JISRACK HP 1 | *JISrack only
@ | Screw M3x8 4 * JIS rack only
@ | Screw M4x8 8 | EIA(H133) 4pcs JIS(H149) 4pcs

2. INSTRUMENT MOUNTING PROCEDURES
(1) Remove the feet from the electric load units.
(2) Attach the bracket to the products. Use either EIA bracket or JIS bracket. In the case of an EIA rack, do not use bracket®.
(3) In the case of JIS rack
Put the bracket@ on the upper part of the product and attached to the bracketl with a screw()

INSTRUCTIONS
O The instrument is heavy. Attach support angles after mounting it on the rack.

d = We provide no support angles. Use support angles provided by
’\T T\- the rack manufacturer, when a mass-marketed rack is used.
o o If the instrument is mounted with no spaces above and below it, the support
angles may not be attached. Check before mounting.
® ®

~.

Support angles



